
E1

E2

E3

E4

E5

E6

E7

E8

E9

E10

E11 E12E13 E14 E15

R1

R4 R7
R2

R5

R6

R3

R8

R10

R11

R12

R9

R13

R14 R15

UP:MB1
DOWN:MB2

L1

L5

L2

L3L7
UP&DOWN：MB4

L4-1 L4

W8

W9

W8-1

A1
A1

UP:S1
DOWN:S1-1

UP:S1
DOWN:S1-1

L6-L

Ø7mm carbon tube

Ø5mm wooden stick

W1W1-1W2W3W4W4W5W6W7
UP:MB1

DOWN:MB2

L1

L5

L2

L3 L7
MB4

L4-1L4

W8

W9

W8-1

A1
A1

UP:S1
DOWN:S1-1

UP:S1
DOWN:S1-1

L6-R

W1 W1-1 W2 W3 W4 W4 W5 W6 W7

C1-2 F9

F10
F4*2

F4-1

W3-1W3-1

UP:MB3U
DOWN:MB3D

C2

C3
C4

C5

C6

C6-4
C6-1

C6-2

F1*2 F2-2
F3

F5
F6

F7

F8

C1+C1-1

U

D

L

Vogee-08 KIT (NO.T05)

Suggest Equipment：

1*3*50 Carbon sheet

C.G C.G

M3 Claw nut*2pcs
M2*10mm Screw

M3*10mm Screw

M3*20mm Screw&
M3 Nuts 2+2pcs

1

8 9 10 11

2 3 4 5 6 7

拼装细节展示

F10
F1

F2
F3

F5
F6

F7

C1-2

C1-2

C1-1

C1-1

L4-1S1
S1-1

S1
S1-1

C6-2

Wingspan : 820mm (32')
Length : 630mm(25')
Flying Weight : ≈450g
Wing Area : 12.9dm² 
Wing Load : 35g/dm²

Motor : MM1908-2050KV
ESC : 20A
Propeller : 7inch
Servo : 9g * 4pcs
BATT. : 2S 800-1300mAh
RX : ≥4CH


